EARAROBEEIERT — 2 N— IBISH —F

20155 7H308 (K) 7EIA#4H

MMV >%3® 1 708 L2 2 5K

‘ [Rfg] 2 ‘ [FEERR] — | 4 (&) 12000 &=

[A&E£] 17 :1,200,000  ~ 23 :360,000 37&:216,000 3

4 75 144,000 B 5 3& :120,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN P B FI 2 4. - . - EHIETT (K3
117112 >N 2 A3 — "3 56.0 1(1_4)7 -2 .5 ! (4_755) 5I|I|%§H,’f:T
RLW—Y>L R B:54h3— S8 ER
N N A —1t 114, - . — HILESE (KFH)
218113 TI/GrLF/ % 3 54.0 : 1(11/42)8 64 .2 8 (‘:_157) AFiok
LY LIAN—t B:TI/FRHI KBRS
SV 4 3 | AEHT 1:14.8 9-7 39.0| — 13 | 469 |BRA—R (K#)
3 6| 77T RA 56.0 (742%) (7) | AR
R:TIvIEAF B:TIAFaTT T =
5 . B3 | Wit 1:15.3 1-11 38.9| — 6 464 | RITR (KF)
4157 AR YT 54.0 (2 1/2) (-2) %-E) NyE-—Z94127
R:AREFY BTLI—NFL—) it s
o AEARREE : & — HAR—K (KFH)
5 9 RIZYUYH 4 3 0 1(.31/54.)5 7-7 39.7 2 (420) o
Rxq4O BiACILUE R Yy w LS
= > # 3 | WIHRA 1:15.8 14-14  [38.7| — 14 | 476 |REMMH (KH)
61111 |FTFaZIE-F 56.0 (1 3/4) ) | B FFaFw
L:THIHFLIL B7UYIEY L He &HX
R N o KE&E : - — KfRELE (/\HE)
1 3 FIRAAE AN AR S g AR e 1 lzgf GRmT
RiFkIAqO— B:YaA4T TS UL NS
TIPS B 3 | S 1:16.1 13-12 [39.2| — 12 | 421 |ZEE (KH#H)
8 5 T4 Tk 54.0 (1 1/2) 8) Wy
RN—YU54 B:¥a2UTyk ERT7—L
R . ABES -16. - . - NNBE— (#8)
9/5|8|F7ATLAY i3 54.0 (11 116/24) 10101 40.5 ‘ :516) E
RTANET Yy BINLF4I-F HET7—L
i 2 T & 7 :16. = . — FERRBKX (KH)
10lR 10| XH1AT 21 73 w0 1 (12?5)8 121840 B (333) SR
LIA 7T B:78—-FIN1 %R inTse ]
. 4 3 | #IE 1:16.8 1-1 M6 — 3 467 | FEEZ (UviA)
110711 T4 )T7ILH 56.0 +) ) wEMR (B)
iAWRNCTA M BN EAY 53 IV AEERS
8 . 3 | EBAH 1:17.1 7-7 N3 — 5 496 | MEHZ (KH)
EH 4| F-Xv1-> 54.0 (1 3/4) ) |idrar
RFBIWTITANRIZ B:TIN—LT1—ILFK IIE-Sye]
S o # 3 | ATE 1:17.2 3-3 “n9l - 10 | 430 |fE4aARE— (KH)
13814 YA PA—NZ 6.0 (7€) Cy |EESIT
R:A—LIFLAA B:HRN—ZAHL TR K B
= . N EIHEER : = = eiEaE (KH*
B2 5170y i 3 i 1.(158).2 5-6 42.6 9 (4_420) [l (R#)
L:T77NT5T B:SAT)-42 X HETF—L
® 1—F—@EBIERL
13—7-—
2a=5F=
== (11,12),14,3,2,13,(4,9),6,8,7,10,5,1
40—+ — 11,12,14,(3,13),2, (4,6,9),8,7,5,10,1
[ N5
B 12 1,990 714K 12-13 5,470 e E 7-8 4,690 JEE 6-12-13 376,540
B B 12 480H 6-12 8,630 e B 7-8 8,130M EH 12-13-6 | 3,623,290M
13 810M 6-13 10,480M B & 12-13 19,460M
6 1,320 B H 12-13 36,0304

ABICOVWTRDTEEERROODE. TR LIV,




